g 6 K 18

$5.9- Werke

W= Fd wWorle

Nﬁvlfmg "N( L.w: E’-mw < MIV" = MSI'

Ut F=Fw) a(l.fml m N fosi hiw of o 'Nj\'a{c,

Ex. fbmk hus wass L2ky . Lt He bok b Muo'n

off f1u mﬁ How Mudn wivk st be dme?

F=ha = my ¢3¢ mlc®

Fe ((2 k,)(jz g,/,ﬂ
we Fd = (I)03)(58) kyu® = kim.m = Nn=T
. s s -_— =
=BT
Cx. olbs & Femg= dolk
[ £4 =o(ﬁ W=F-d= dolbs. 6F+
. 2 o Y -
(131 i) e o j o fl]

& Wt do we do By dag% fra?  F=F(x)
E—

A, 2
IRAMSARA >

Y=q F(¥) Y;"L v=b

wez 3 F(“i")éy

|




n
- b
The LXnOJ’ ok Aj& it W= |['m z% F(X.:*) Ax = 5; Foodx.

Ex . Flx)= x™t2x

tow much Wi B done fi x:[—3 T

S 3
W= ,({ X tlx dx = ‘é’xﬂx’}l = l?*§=%
a/ —
Ex anLb.I‘ vl XK= rechy  posihen
L < A |
Xs= S tretdud
é‘,, h\/‘vAV“ {
— D Flx)=kx
0 xr Xs T
! . : consnd
Ex. F=40N  x=lpcm—> ISem X=15-10 =4
rest shreloly ¢d
How modh vk i3 done D wee S{M\} fome 1Senn ‘L"’_'Li_‘*_?
vh T
Hwke:  F= fex Flo= gx
Yo= .6 2.03 ‘
k= q'/;—t ['4 W’ f gx dx = ",‘x?', =Y (5?')'5') YA w“r
.'ol; Yy N 4 —n
— [5¢kem
;,) (\;:. 0.0(5p ﬂ 'i_s_:_

—

£X___;‘_2&£{'_|.am; able w,qu (oo by w;_—___‘

O
v

- /\r,

' How mch warke 8 doae b0 pll e aable b o

1”‘4 g _" H'f .‘F hu_ L‘A\u,hz?

L ¥
i lhs

» |’
T doily i e < 5




Do wonkt A% e b Wl ke LWy £

= 5‘:0’ ”.g
T wwk n & s o
ww n W W= ), ';‘,}-L;‘:[_'vlo-:l’-ijg—
= q o .F,.-“'_(,
Ex . R‘M@@k
oyt
( Bn 10 m H"’W V‘N\M‘L\ W hu6+ LL d""l/k 'P\Aw'f _h""
1 woker ?
o= a‘.lmsn-?: lm"%’ of o
T
LT e ro. ot = 2 (Ary)
ﬂ"‘}‘[ ) ‘L lo-‘} " 4)_!‘—5(43#11
y— v '

AV =h= v = u'(;f-(.uwg))z' = %_-:;: (l@"'va)1

m= eAV =

(o1 T LGP
Up LT (g A

mly) = 160w (1ey)*

Fema= m.,q = lsor(km)z-?-?

W= IDCW{ ? ¢

\\__’-

0
= I56gr ) (wry)'d,

=15697 -5 32 ®m 2RBSTIA T




